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Math III Unit 2 





Applications
When working with “natural” growth, things oft grow according to the equation: A = Pert. Depending on the problem, the letters used may vary. For example, you may see:  
N = N0ekt
or 
P = P0ekt 
or 
y = Aekt
It doesn’t matter what the variables are, it is just important that you recognize the location of the numbers in this basic “natural growth” formula and know what each location represents.

You will either be given the formula in the problem OR the use of the formula will be prompted by the term “COMPOUNDED CONTINUOUSLY.”

Ex1: The population of Raleigh, NC was approximately 290,000 in 2000. In 2010, the population was approximately 406,300. Population growth in Raleigh can be modeled by P(t) = P0ekt where t is the number of years since 2000.

a) What is the value of P0?
b) Set up an equation where the only unknown is k. Then, find k.

c) Using your value of k, write an equation that models Raleigh’s population growth.
d) Assuming that Raleigh is still growing according to this model, what will the population be at the time of the next census (2020)?

Ex 2: Annual sales of a certain product can be modeled by the function 
[image: image2.wmf]where S is the number of units sold, S0 is the amount sold when t = 0, and t is the number of years since the product went on the market. 

a) Given that S0 = 1000, write the equation.

b) What are the annual sales 6 years after it went on the market?
c) Are sales increasing or decreasing?
d) After how many years will sales be 50 units?
Ex 3: Mazie invested $4,500 in an account earning 4.3% interest compounded continuously. After how many years will her investment double?









